Worksheet Chapter 7 Trig Identities

ON A SEPARATE SHEET OF PAPER, PROVE THE FOLLOWING

EXPRESSIONS.

1. cscx-tanx =secx

2. secx-cotx-sinx =1

3. sin*@-sech-cschd=tand

4. tanx+cotx =cscx-secx

5. secf—cos@ =sinf-tanl

6. tanx(sinx+cotx-cosx)=secx
7. cosx(secx+cosx-csc’ x) =csc’ X
8. (secx—1)(secx+1)=tan’ x

9. (cos¢p—sing)’ =1—2cos¢-sing

10. (1-tang)® =sec’ p—2tang
11. (cosx—secx)” =tan’ x —sin’ x
2
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12. CSC—x=co‘cx~cscx
CcoS X
2
13. ﬂ:smH-COSG
tan @
1 2
14. W=cot2¢
sec” @
15, S§CA_SlnA=COtA
sinAd cos A4
16. CSCB—C(_)SB=tanB
cosB sinB
17. ! + ! =2csc’
1-cos@® 1+cosé
18. ! + ! =2secx
secx—tanx secx+tanx
Simplify.
19. cos? x+sin” x+cot? x
20. sinxcscx—smx
cscx
=2
)1, Vv1—sin” x

V1+tan® x

SCX
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22. sinxSecx| cosx+ 5
sec” x

23. (1-sinx)(secx+ tanx)
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